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General Instructions :

i)

i)

iii)

iv)

vi)

vii)

The Question-cum-Answer Booklet consists of objective and subjective types of
questions having 54 questions.

Space has been provided against each objective type question. You have to
choose the correct choice and write the complete answer along with its alphabet
in the space provided.

For subjective type questions enough space for each question has been
provided. You have to answer the questions in the space.

Follow the instructions given against both the objective and subjective types of
questions.

Candidate should not write the answer with a pencil. Answers written in pencil
will not be evaluated. ( Except Graphs, Diagrams & Maps )

In the case of Multiple Choice, Fill in the blanks and Matching questions,
scratching / rewriting / marking is not permitted, thereby rendering them to

disqualification for evaluation.

15 minutes of extra time have been provided for reading the question paper.

Four alternatives are given for each of the following questions / incomplete statements.

Only one of them is correct or most appropriate. Choose the correct alternative and write

the complete answer along with its alphabet in the space provided against each question.

15x1=15
1. Bhima went in search of the Saugandhika flowers because
(A) they were attractive and had a pleasant smell
(B) he wanted to meet his brother Hanuman on the way
(C) he wanted to please his beloved wife Draupadi
(D) Dharmaraya wanted those flowers.

Ans. :




3 63-E

Why did Bhima grow angry ?

It was because the monkey

(A) considered Bhima to be an ordinary man

(B) did not care for his warning

(C) asked him to jump over him

(D) asked him to move aside his tail and go.

Ans. :

Gandhiji’s father requested the headmaster to exempt his son from gymnastics

because

(A)  his son did not like it

(B) it was not a part of education

(C) the teacher of the gymnastics was strict

(D) he wanted his son at home after school.

Ans. :

Gandhiji thought of going back to third standard because
(A) Geometry was a difficult subject for him

(B) all the subjects were taught in English medium

(C) the class teacher was very strict

(D)  he had no basic knowledge in Geometry.

Ans. :
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5.

Giovannio moved from the city to a house in the country because

(A) city life was costly (B) it was quiet and peaceful

(C)  he had to look after his property (D he was transferred.

Ans. :

The Duchess disliked living in the country because

(A) she missed the comforts of city life

(B) there was no garden

(C) it was not good for health

(D)  she had no friends there.

Ans. :

The one word for ‘a person who lives a wondering life’ is

(A) sanyasi (B) vagabond
(C) goose (D) affluent.
Ans. :

Somu got ..........c.eeie. the tree.

The preposition to be filled in the blank is

(A) in (B) on

(C) down (D) with.

Ans. :




10.

11.

12.

13.
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Hari went to the railway station late ..................... he missed the train.

The conjunction to be used to fill in the blank is

(A) because (B) if

(C) but (D) so.

Ans. :

Mr. Ramakrishna wanted to take all ................... students of his class to the ground.

The article to be filled in the blank is

(A a (B) the
(C) an (D) no article.
Ans. :

The word that rhymes with ‘line’ is

(A) main (B) crane
(C) thine (D) rain.
Ans. :

The word that takes the prefix ‘dis’ is

(A) done (B) popular

(C)  correct (D) like.

Ans. :

Now-a-days the ......c.cceevveninnnn. of the buildings is very costly.

The correct form of the word to be filled in the blank is

(A)  construction (B) construct
(C)  constructed (D) constructing.
Ans. :
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14.

15.

16.

17.

18.

‘God rides upon the storm.’

The figure of speech used in the sentence is

(A) simile (B) metaphor
(C) personification (D) alliteration.
Ans. :

The Vidhana Soudha is more beautiful than any other building in Bangalore.

The part of speech of the underlined word is

(A) noun (B) verb
(C) adverb (D) adjective.
Ans. :

Fill in the blank with suitable auxiliary verb :

When I went to Ramana’s house, he .............c.c.ooiini. watering the plants.

Ans. :

Fill in the blank with suitable tense form of the verb given in brackets :

Shantha ........cccovvvineninn... ( buy ) a site in Mysore last year.

Ans. :

The noun form of ‘organise’is ......coevviiviiiiiviiininnnnn.. .
g

Ans. :
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19. The opposite word of vanish’is .......c.ccooeviiiiininin.n. . 1
Ans. :

20. Fill in the blank with suitable word given in brackets : 1
We should not ......cocevvvviiininnn.n. others’ belongings. ( steel, steal)
Ans. :

21. Match the words in List-A with their meanings in List-B. Write the correct answer in

the space provided : Sx1=5
List-A List-B
(a) contempt (i) related
(b) allied (ii) deeply religious
() pious (iii)  dress
(d) attain (iv) lack of respect
(e) robe (v) old and torn

(vi) favour
(vii)  royal dress

(viii) reach.

Ans.: a) b)
c) d)
e)
Answer each of the following questions in two or three sentences : 13 x2 =26

22. What made Andy think that the postmaster was very curious ?
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23. How do you know that Narendranath was truthful ?

24. Why did Narendranath visit Sri Ramakrishna ? What did he ask him ?

25. How did Chandrashekar achieve a great name as a bowler even with his
disadvantage ?

26. Who, according to Chandrashekar, was the best batsman he bowled against and
why ?
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27. Why did Kalpana have great regard for J.R.D. Tata ?

28. Why did the District Collector send for Kashibai ? What did he ask her for ?

29. Why did the king call the farmer ‘foolish’ ?

30. Why does the poet compare his mother to fertile, black earth ?

[ Turn over



63-E 10

31. What should we trust God for ? Where does God hide a smiling face ?

32. How would the evenings be in Tartary ?

33. What is the message of the poem ‘Once upon a time’ ?

34. Why does the poet say the robber was ‘bold’ ?




Read the following extracts and answer the questions that follow :

35.

36.

11

“I don'’t like to be troublesome, Sir.”

a) Who is the ‘Sir’ ?

63-E

5x3=15

b) Who does T’ refer to ?

) What question was it an answer to ?

“The Sarabhais started a school.”

a) Where did they start a school ?

b) What was its name ?

c) How were the teachers of that school ?
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37. “She is a permanent star in the sky.”

a) Who said this ?

b) Who is ‘she’ ?

c) What do you mean by the ‘permanent star’ ?

38. “She in her poor attire was seen”

a) Who is the ‘she’?

b) How did she look in her poor attire ?

c) What does ‘attire’ mean ?




39.

40.

13 63-E
“The lady stuck to her word.”
a) Who was the lady ?
b) What was her word ?
) When did she do so ?
4

Quote from memory :
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Answer each of the following questions in five sentences : 2x4=8

41. What, according to Nehru, are the signs of civilisation ?

OR

How did Daksha win over the king ?
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42. Summarize in your own words the poem ‘Work is Worship’.

OR

Describe in your own words the dream of Walter de la Mare, as narrated in the poem

‘Tartary’.
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Rewrite as directed :

43. Change into passive voice.

Bhramara is cooking food.

44. Frame a question to get the underlined words as answer.

Raghava went to Mysore to pay the tax.

45. Combine the sentences using ‘either .......... or to get a meaningful sentence.

The Government wants teachers to do election work. It wants clerks to do the work.

46. Combine the sentences using ‘too ........... to’ to get a meaningful sentence.

The path is very dirty. I cannot walk.




47.

48.

49.
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Give the other degrees of comparison. 2

Shwetha is the most intelligent girl in the class.

Change into indirect speech. 2

“I did not pay the money yesterday,” he said.

Imagine that you are Chaitra / Charan of 10th Standard, Sardar Vallabhbhai Patel
High School, Sarjapura.

Write a letter to your father, telling him about your studies. 5
OR

Write a letter to the postmaster, informing about irregular delivery of letters in your

area.
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50.

19

Write a paragraph on any one of the following topics :

a) Disadvantages of Television
b) Water pollution and air pollution
c) The Asian Games held in China recently.

63-E
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Read the following passage and answer the questions that follow :

Lokamanya Tilak was imprisoned by the English. He kept himself busy in

studies while in jail. The jail was a quiet place, where even the birds wouldn’t chirp.

Tilak started putting away some food for birds while having meals. The food was

untouched in the beginning. But after some days, a few birds started coming there.

Slowly their number increased and they were all around Tilak. The birds would sit on

his head and shoulders fearlessly. One day a jailor came to Tilak’s cell while on his

rounds. On hearing the chirping of birds, he peeped in and he was totally surprised.

“So many birds; where have they come from ?” he asked. Tilak replied, “Friend, I

didn’t bring them from India. These are from here only.” The jailor was surprised. He

said, “Everybody eats birds; hence they do not come here.” Tilak laughed and said,

“The birds can also distinguish between friends and foes.”

S51. Why did the birds come to the prison ? 1

52. What did the jailor ask Tilak ? What was his reply ? 1
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53. Why did the jailor peep into Tilak’s cell ? 1

54. How did Tilak spend his time in the jail ? 1

[ Turn over



63-E

24



